1. (12 points) Evaluate the integral /mQE‘“’ dz.
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2. (10 points) Evaluate the integral / sin®(3z) dz.
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3. (12 points) Evaluate the integral f -
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4. {12 points) Evaluate the integral ./ % In z dz.
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5. (6 points each) Determine if the series (a)—(d) converge or diverge. Clearly state any tests
you use. A correct conclusion with incorrect reasoning will be considered wrong.
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G. (6 points each) Determine if each series below converges or diverges. If it converges, find
its sum.
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7. (3 points each) SHORT ANSWER: For each of the following, you do not need to justify
your answer, and no partial credit will be given.

(a) Find the limit of the sequence a, = P
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(b) What substitution should be used to evaluate the integral d
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(c) For which values of p does the integral / — dz converge?
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